ROR TRAILER SUSPENSION COMPONENTS

TRAILER TRAILER ROR FL9000 TRAILING ARMS,
AIR SPRINGS SHOCK ABSORBERS PINS, BUSHES & U’BOLTS
ZP5032M (21222442) ROR FL9000/FL11000 ZP5032M (21224745) ROR FL9000/FL11000 ZMTRS0001 Trailing Arm (c/w 24mm Bush)
ZSA0004 (21222239) ROR FL11000 ZSA0004 (21224778) ROR FL90OOONB ZSC0002 Pivot Bush (M24 x 60 x 102mm)
ZSA0005 (21225104) ROR XL9000 Flexlite ZP9751 Pivot Bolt (M24 x 195mm)
ZSA0006 (90044626) ROR C9 ZP9724 Nut (M24)

ZP9725 Washer (M24)

ZP9714 U’Bolt (M24 x295mm)

ZP4035 U’Bolt Nut (M24)

ZP9709 Trailing Arm (c/w 30mm Bush)
ZSC0001 Pivot Bush (M30 x 60 x 102mm)
ZP9410 Pivot Bolt (M30 x 200mm)
ZP9722 U’Bolt Nut (M30)

ZP9723 Washer (M30)

ROR CS9 AIR SPRING ROR CS9 SHOCK ABSORBER ROR CS9 PIVOT BUSH KIT

bos

3

Z5P0106 ZSA0006 ZA11225N1522RK

105



BPW TRAILER SUSPENSION PARTS

TRAILER
AIR SPRINGS

ZSP0020ASPM (0542943200) BPW D30
ZSP0026ASPM (0542943210) BPW D30K
ZSP0022ASPM ((0542943510) BPW D36

TRAILER
SHOCK ABSORBERS

ZSA0102 (027228300/0237221400)
20237228302 325/495
20237228902 292/432

®9

TRAILER

BPW U’BOLTS & HARDWARE
20313837024 U’Bolt M22/150x289 Flat
20326004190 U’'Bolt Lock Nut (M22)
20254012307 U’Bolt Waher (M23)
20313841334 U’Bolt M24/150x285 Flat
20252207412 U’'Bolt Lock Nut (M24)
20254012507 U’'Bolt Lock Washer (M25)

BPW SPRING EYE BUSH

20203142400 Spring Eye Bush M24
20203159800 Spring Eye Bush M30

BPW SPRING BOLT ASSEMBLY

20585700280 Spring Bolt Assy M24
20585700180 Spring Bolt Assy M30

U’BOLT SEGMENT

20334523090 U’Bolt Segment

RH SPRING PAD AL11

LH SPRING PAD AL11

2050322100 RH Spring Pad C/W Peg

20503222090 RH Spring Pad C/W Peg

SPRING WRAPPER LEAF (STRAIGHT)

20534830360 Leaf (Straight)
20534830370 Leaf (Step Down)

106




